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1. BEEROE
(1) EENE
ZEEEENG 256,833,000 270,214,000/ A 13,381,000
ZIE N & 201,565,000 210,615,000 A\ 9,050,000 [E2 4 UXA
TR ES 31,920,000 35,034,000 A\ 3,114,000 |14 & 2R
TWEHE 23,348,000 24,565,000 A 1,217,000
BEBEZ RN 10,574,000 10,495,000 79,000
ZIE N & 5,185,000 4,968,000 217,000|E24 & XA
TR ES 4,428,000 4,573,000 A\ 145,000 | #1512
TMEHE 961,000 954,000 7,000
ThE BN 12,483,000 12,354,000 129,000
SZEEL D& 7,747,000 7,959,000 A\ 212,000|E249EURA
TR ES 4,004,000 3,712,000 292,000 | EZ A
TMEHE 732,000 683,000 49,000
HEE OEE EE TN 3,297,000 2,654,000 643,000
FEE TOEEEE TN 3,297,000 2,654,000 643,000 ifEEEZTH
TR E 1,280,000 1,350,000 A\ 70,000
REZHEE 1,280,000 1,350,000 A T70,000| E2EFSE
ZIHENEE 56,640,000 56,715,000 A\ 75,000
ZEEARTE 16,640,000 16,715,000 A\ 75,000 |EE B %
ZIm#EhE 40,000,000 40,000,000 0|t tEHHEE
HENZS 2,000 2,000 0
SZENA| B 1,000 1,000 0
HENZS 1,000 1,000 0
REINzREt 341,109,000 353,784,000 A 12,675,000
(2) BREER
HEE 350,975,000 360,468,000 A\ 9,493,000
BRI S 201,565,000 210,615,000 A 9,050,000 |ZFEEELEEHE
XM R B E 31,920,000 35,034,000 A 3,114,000 | ZxE£mp B
XiEH & (e EER) 5,185,000 4,968,000 217,000 |5 E BB BRSNS
TIMREZE(GEEER) 4,428,000 4,573,000 A 145,000 |fe e E BRI B %
EEIN TGSk E D) 7,747,000 7,959,000 A 212,000\ MEEEABENE
THIMREE(REEE) 4,004,000 3,712,000 292,000 | B EEMPES
TRy 33,046,000 27,383,000 5,663,000 M2 EAK. BIK- B9 EF L%
REEES 18,432,000 23,105,000 A 4,673,000 |fEIEEEES
RE R & 8,119,000 7,907,000 212,000 |42 1RBHIE
BEHA {2 3,211,000 2,873,000 338,000 | M 2 BEi& # 4, DBES
BHELE 102,000 110,000 A 8,000 |5 B B2 U
RinE 980,000 1,031,000 A 51,000|8EE 4 MR SHS
REBEE 35,000 47,000 A 12,000| 8 EHHE - REERBEE
BIEEMRE 1,406,000 1,170,000 236,000 |Ep3tkl, BEE. A ~ & — 2 v FEREAR
TR RN 1,214,000 705,000 509,000 |EE & 7 (E /. ik, 8l )
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THERE 3,051,000 2,642,000 409,000|EHAR.H Y U v RE
1EHEE 90,000 300,000 A 210,000 | =S, Bk
ENRI B A 1,730,000 1,859,000 A 129,000 N—F & Y HE, £ NREEES
PIE i S 430,000 430,000 0|=AECREE) S
EER 4,361,000 5,118,000 A 757,000 [BEEHERL, OAEER Y — 2RI
RERAL 4,414,000 3,853,000 561,000|3 L/ s — (2B, BEEILERIRE
wHE 460,000 460,000 O|#emgie. iR - BN ESS
AL 7N 4,237,000 3,684,000 553,000 [UXAFNHE, EEHE. SHER
Zit#E 5,871,000 5,940,000 A 69,000| %55 2 7 LF KL RSPRIE
B & 0 0 0|#BLT*R %
EEBIGHIRE 0 0 0|HELER
EAEBRES S 4,119,000 4,008,000 111,000 [HAEEERABESS
XILFHER 668,000 732,000 A\ 64,000 | &R RIRA % F 500
e 150,000 250,000 /A 100,000 |ER &S
EIPEE 4,699,000 5,002,000 /\ 303,000
TR 4 1,067,000 1,218,000 A\ 151,000 | BB A IR - Shih, S F 4%
RERH & 169,000 204,000 A 35,000 | RERI %
BRETE A 29,000 33,000 A\ 4,000(DBES
BHEELE 2,000 2,000 0|8 B ek
DEE 101,000 106,000 A 5,000(E=4%
BEEREBE 1,591,000 1,459,000 132,000 | =L EERAFE
REBE 258,000 258,000 0|&EFHES
WIS EME 1,000 1,000 IEe
SHFER 575,000 800,000 A 225,000 |[RaamE
EDRI B A Z 0 0 0|:E%
EER 49,000 49,000 0|OA&28 ) — 2 £
R 205,000 205,000 0|&E1RK
GIEERNS 0 0 0|EAR
X BBE 424,000 403,000 21,000|&> - Eha%s
it 176,000 209,000 A 33,000|Z 2 &M, B ERL
XILFER 22,000 25,000 A 3,000 & EHBI RN F #0k)
e 30,000 30,000 0| RetrhES
RE &R 355,674,000 365,470,000 A\ 9,796,000
YRR E AR A 14,565,000 A 11,686,000 A 2,879,000
2. RENEROE
(1) BEAUNEE
BHilER £ 5T E A 0 0 0
R SNERET 0 0 0
(2) BEANER
HHEafEmmbREDIE 0 0 0
HillER 2 REE 0 0 0
RENBERA 0 0 0
YRR SRR 0 0 0
Y A — AR IE R BA EE SRR A 14,565,000] A 11,686,000 A 2,879,000
—RERMEREES 50,614,765 62,300,765 A 11,686,000
— MR ERMEREES 36,049,765 50,614,765 A 14,565,000
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